Providence Hospital in Everett has recently purchased Everett Medical Center.  These were the only two hospitals in the city of Everett.  Both hospitals were non-profit hospitals.  While they admitted that the merger would give them market power, they argued that their non-profit status and public mission would cause to act efficiently.

a.  What economic factors make it unlikely that the competitive outcome will result regardless of the good intentions of the hospital’s board of directors.

b.  A result empirical study used data from California in which it regressed the hospitals’ average prices against market structure variables and dummy variables for non-profit status.  A relevant market was defined as counties.  The results found that higher Herfindals were associated with lower prices for non-profits but higher prices for for-profit hospitals.  A judge cited this article in recently allowing the merger of the two dominant hospitals in Grand Rapids, Michigan. 

i.  Evaluate the economic logic of such a regression (note that many markets have both for-profit and non-profits in the same markets.

In evaluating the results, explain the significance of the facts that 

1) counties with high Herfindals are almost always small, rural hospitals, and 

2) for-profit hospitals choose to locate in particular areas and not in others.

